ﬂl'gdp POLE MOUNTING PLATFORM ENCLOSURE

DESIGN No Modification to the Exterior or Interior required

INSTRUCTIONS

Cable Entry/Exit Port

Built In Power

PARTS INCLUDED

PLATFORM
(6) 6.32 X 1/4" Pan Head Screws

ELECTRICAL

(1) Conduit Adaptor

(1) Blanking Plug

(1) Power Unit complete with AC Receptacle
(4) 6.32 x 3/8"Power Unit Cover Screws

POLE MOUNTING POLE CLIP
(4) 6.32 x 1/4" Pan Head Screws

Dimensions: 12" Wide 10" Deep 2" High Easily removable

Vented Front Panel

OPTIONAL STANDARD COVER
(8) 6.32 X 1/4"Pan Head Screws

PARTS REQUIRED FOR SECURITY PACKAGE

(1) Security Cover

(8) 6.32 X 1/4" Tamper Proof Screws

(4) 6.32 X 1/4" Tamper Proof Screws for Pole Clip
(1) #10 Hex Key for Tamper Proof Screws

Cable Entry/Exit Port Conduit Fitting

Optional Security Cover
Fast Fitting Pole Clip

FOR BOARDROOMS OR SIMILAR INSTALLATIONS

For Installations where appearance is a consideration, users can purchase the NB-PEC-W
Cover with Standard Screws that fits directly to the top of the Equipment Enclosure.

OPTIONAL SECURITY PACKAGE

For Installations where Security is a concern, users can purchase the Pole Mount Enclosure with the
Security Cover Kit NB-PESC-W that includes Tamper Proof Fittings making the entire unit and the installed
equipment resistant to theft.

Unit shown with optional Security Cover

Good Design should never be limited by a lack of Innovative thinking. We strive to make Better Looking
Products by paying attention to every detail that also contributes to making Installation Easier.

We therefore reserve the right to make Specification Changes and Improvements without notice

Nigel B Design, Inc. 4163 St Clair Ave, Studio City, CA 91604
e-mail: sales@nigelbdesign.com or Tel: (818) 487-9323




